



## GOVERNMENT OF WEST BENGAL DIRECTORATE OF FORESTS OFFICE OF THE DIVISIONAL FOREST OFFICER, PANCHET DIVISION

সকত ক্ষম দুগু দে एकर तन विद्याग

Satyajit Sarani, Bishnupur, Bankura Phone & Fax No.. 03244-252189, E-mail:panchetvp@gmail.com,

Website: www.bankuraforest.in

MemoNo. 614

/02-05/32

Dated Bishnupur, the: 05 / 03 /2018

Notice Inviting e-Tenders: -WBFOR/PNT/SP/PLTN/1(e)18-19 to WBFOR/PNT/SP/PLTN/15(e)18-19

e-TENDER FOR QGS PLANTATION CREATION WORKS FOR 2018-19 AT DIFFERENT LOCATIONS UNDER PANCHET DIVISION, BISHNUPUR, DIST.-BANKURA, WEST BENGAL.

The Divisional Forest officer, Panchet Division, Bishnupur West Bengal, on behalf of the Governor, West Bengal invites e-Tenders for the following work(s) from the eligible Contractors as detailed in the table below. [Collection (downloading) and Submission (uploading) of e-Tender can be made online through the website https://wbtenders.gov.inonly].

### SCHEDULE OF WORKS WITH LOCATION DETAILS & FEEs etc.

e-Tender Notice No.	Range	Beat	Mouza	JFMC	Area (Ha)	Rate (Rs)	Amount (Rs)	EMD	Security De posit
WBFOR/ PNT/SP/P LTN/1(e)	Taldangra	Taldangra	Chenchuri a-70	Saralia	12				10% of the Offered/Co
			Chenchuri a-70	Pakurdiha	10				
18-19	Total					40000	880000	17,600	Rate
WBFOR/ PNT/SP/P LTN/2(e) 18-19	Taldangra	Taldangra Panchmura	Shyamsun darpur- 114	Lohajangal	10				10% of the Offered/Co ntracted Rate
			Shyampur -185	Dhadkidan ga	15				
	Total					40000	10,00,000	20,000	
WBFOR/	Bankadaha	Bankadaha	Baramara- 149	Peradoba, Bhalki	15				10% of the
PNT/SP/P LTN/3(e) 18-19			Baramara- 149	Kalabagan, Dhansole	10				Offered/Co ntracted
18-19	Total					40000	1000000	20000	Rate
WBFOR/ PNT/SP/P LTN/4(e) 18-19			Choto Bankadah a-148	Chitrang	10				10% of the
	Bankadaha	Bankadaha	Hetagara- 63 (143)	Hetagara	15				Offered/Co ntracted Rate
	Total			25	40000	1000000	20000	1	

WBFOR/ PNT/SP/P	Bankadaha	A 1 -1	Hulmara- 155	Hulmara	5				10% of the	
LTN/5(e) 18-19	Вапкадапа	Amdahara	Hulmara- 155	Majpara	5				Offered/Co ntracted	
10-17		To	tal		10	40000	4,00,000	8,000	Rate	
			Mamrasol e-136	Patharjhora	5			,		
WBFOR/ PNT/SP/P LTN/6(e)	Bankadaha	Bankadaha	Bankadaha Peardoba	Asthasole, Rajpur- 143	Rajpur	5	Ξ.	-		10% of the Offered/Co
18-19			Bindabon pur-138	Ghola	10				Rate	
		Tot	tal		20	40000	800000	16000		
WBFOR/ PNT/SP/P LTN/7(e) 18-19	Bankadaha	Amdangra	Sonajhare- 136	Sonajhore	10	40000	400000	8000	10% of the Offered/Co ntracted Rate	
WBFOR/ PNT/SP/P LTN/8(e) 18-19	Joypur	Joypur	Kataban- 83	Hamar- Ramjittara	15	40000	600000	12000	10% of the Offered/Co ntracted Rate	
			Kataban- 83	Chabra	5					
WBFOR/ PNT/SP/P LTN/9(e) 18-19	Joypur	Machantala	Jangalmah al85, Mobarakp ur-80	Mobarakpu r	10				10% of th Offered/C ntracted Rate	
		Tot	al		15	40000	600000	12000		
WBFOR/ PNT/SP/P	Joypur	Kuchiakole	Bajemoyn apur-53	Bajemoyna pur	5				10% of the Offered/Co	
LTN/10(e		Adhkata	Betri-73	Betri	10				ntracted	
)18-19		Tot	al		15	40000	600000	12000	Rate	
WBFOR/ PNT/SP/P LTN/11(e )18-19	Bishnupur	Bishnupur-I	Ghugimur a-121	Ghugimura	20	40000	800000	16000	10% of the Offered/Co ntracted Rate	
WBFOR/ PNT/SP/P LTN/12(e )18-19	Bishnupur	Chougan	Siromonip ur-104	Siromonipu r-Kangore	15	40000	600000	12000	10% of the Offered/Co ntracted Rate	
WBFOR/ PNT/SP/P LTN/13(e )18-19	Onda	Onda	Jamdoba- 229	Jamdoba- Teleberia	20	40000	800000	16000	10% of the Offered/Co ntracted Rate	
WBFOR/ PNT/SP/P LTN/14(e )18-19	Onda	Onda	Sususnia- Gobindara mpur-126 & Kochkhali -124	Kochkhali- Dumursole	15	40000	600000	12000	10% of the Offered/Co ntracted Rate	
WBFOR/ PNT/SP/P LTN/15(e )18-19	Onda	Krishnanag ar	Kamarkat a-157	Sawraghati	20	40000	800000	16000	10% of the Offered/Co ntracted Rate	

<sup>\*</sup> Price of Form Technical & Financial Bid documents and other annexure (Rs.1000) only for the L1 at the time c Award of Contract/ AOC

# MODEL ESTIMATES FOR CREATION WORKS OF QGS PLANTATION DURING 2018-19

Quantity-1600 Seedlings /ha

UNIT-1 HA

SI No	Item of Works	Unit	Qty	Rate (Rs)	Amount (Rs)	Time Schedule
1	Alignment & stacking of planting pits	Ha	1	240	240	Within 15th April
2	Making of Inspection Path (3 Mtr wide 400 Mtr long)	Rmtr	400	1	400	Within 15th April
3	Digging of planting pits (Size: 60cm X 45cm X45 cm)	Nos.	1600	5	8000	Within 30th April
4	Cutting of contour trenches of size 5mx0.45mx0.45m	Nos.	40	90	3600	Within 30th April
5	Filling up of planting pits with dug-up pulverized soil, organic manure, Fungicides, Micro-nutrients etc.	Nos.	1600	2	3200	Within 15th May
6	Thorough cleaning of the planting sides to remove all obnoxious weeds, natural regeneration etc. before planting	На	1	2400	2400	Within 30th June
7	Cost of carriage of seedlings from Nursery to planting sites	Nos.	1600	0.75	1200	Before Transplanting
8	Transplanting of potted seedlings including internal carriage	Nos.	1600	2	3200	Within 15th July
9	Making fencing (With Bamboo post, splitted bamboos & brushwood/thorns) all around the planting sites including supply of all materials & maintenance of the same upto March, 2019.	Rmtr	1200	2	2400	Within 15th July
10	Application of insecticides to the potted seedlings including purchase of the insecticides as & when required	Nos.	1600	1	1600	As Directed by the Concerned RO
11	Vacancy infilling with potted seedlings including carriage of the same as many times as & when required	Nos.	320	2.5	800	As Directed by the Concerned RO
12	1st time weeding cleaning & mulching with application of fertilizer & vacancy infilling	Nos.	1600	2	3200	Within 15th August
13	Thorough cleaning of the area to remove all obnoxious weeds, natural regeneration between the planting lines	Ha	1	1900	1900	Within 31st August
14	2nd time weeding cleaning & mulching & vacancy infilling	Nos.	1600	1.75	2800	Within 15th September
15	3rd time weeding cleaning & mulching with application of fertilizer (only the Misc. Block)	Nos.	480	2	960	Within 15th October

16	Making fireline 3 mtr wide all around the plantation periphery & inside to make it smaller blocks	Rmtr	2500	0.80	2000	Within 15th February
17	Watch & ward of the plantation from Sept to March	Month	7	300	2100	1st September , 18 to 31st March, 19
	Total				40000	

### ANALYSIS OF THE ESTIMATES

- 1. Model estimate for creation works of QGS plantation have been provided above. The estimated cost is inclusive of all materials to be supplied & labourers to be engaged for the purpose except the cost of procurement of Fertilizers/Manure (Organic, Inorganic), Fungicides & Micro-Nutrients to be applied during Filling up of Planting Pits & Mulching. Successful bidder/s can carry out the works either by deploying machine or by deploying labour by paying minimum wage for the time in vogue. As, each of the activity requires specialized skill and experience JFMC members who are conversant in carrying out such types of activities, should be given preference while deploying labour for such types of jobs. While payment is required to be made by the contractor concerned, decision taken by the concerned Range Officer on technical ground shall be final and binding with respect to carrying any particular activities mentioned in the model estimates.
- 2. The estimate is indicative in nature. Thus, it might be so that some of the items mentioned in the estimates do not require to be implemented in the field and some of the items need to implement more than once, repeated or enhanced as per field requirements especially for SI No. 2,9,11 & 16 of the Model Estimate. Thus the Intending bidders need to quote rate accordingly and will have to follow the instructions of Forest Officials only which will have the liberty to change the inner items mentioned in the estimates, without changing the rate or the amount of that particular item. Intending bidder/s are expected to have that flexibility.
- 3. Since the entire plantation work is a time bound activity, its success depends on how timely the work is executed. Accordingly the items are sequential and need to be completed within the specified time as mentioned in the last column of the Model Estimate. This should be strictly followed except under certain unavoidable circumstances and after obtaining specific permission from the undersigned or his authorized representative.
- 4. Payment shall be made to the successful bidders only for those items which he/she has carried out at field on pro rata basis as per the rate offered by the L1 & as per the instructions of the undersigned or his authorized representatives. Each item of the estimates has a definite time line, beyond which the item is very difficult to be implemented in the field. Thus, any item, which is not possible to be implemented in the field within due time, can only be implemented after having due permission in this regard from the appropriate authority. Successful bidders are required to prepare bill for making payment accordingly.
- 5. In some case, the location may also vary/changed depending on the field situation. Payment shall be made on pro rata basis based on the lowest rate offered by the successful bidder/s.
- 6. Since the items are very much technical and needs to be implemented properly as per correct Silvicultural technique, understanding of all the items is a prerequisite for the Bidders. Accordingly a pre-bid meeting will be held on 7<sup>th</sup> March, 2018 at 4:00 PM at the Office Chamber of the undersigned to clarify all technical aspects including any other doubts/confusions arising on the part of the intending bidders. Intending bidders are accordingly requested to attend the same. In case of any confusion in later part regarding implementation of any item the decision of the undersigned or his authorized representative shall be final & binding.
- 7. Rate Quoted below 15% shall be subject to rate analysis which shall require to be provided based on technical grounds to be ascertained by the Tender Committee constituted for the purpose. Rate analysis which is not technically viable shall not be accepted at this end and the candidature of the contractor concerned shall liable to be cancelled at once.
- 8. From the above analysis, it follows logically that R.A bills shall be admissible in this regard.

### SCHEDULE OF DATES

Sl. No.	Particulars	Date & Time				
1	Date of uploading N.I.T. Documents—Online(Publishing Date)	08/03/2018				
2	Documents download start date (Online)	08/03/2018 10.00 am				
3	Documents download end date (Online)	15/03/2018 5.00pm				
4	Bid submission start date (Online)	08/03/2018 10.00 am				
5	Bid submission closing date (Online)	15/03/2018 5.00 pm				
6	Date of submission of Earnest Money Deposit & Cost of e- Tender Documents (Offline)	16/03/2018 1.00pm				
7	Bid opening date for Technical Proposal (Online)	16/03/2018 4.00 pm				
8	Date of uploading technically qualified bidders(Online)	To be notified in due course				
9	Date of opening Financial Bids (Online)	To be notified during uploading of Technical Evaluation Sheet of bidders				
10	Date of uploading of list of bidders along with final rate, after negotiation with all e-Tenderers if necessary(Offline)	To be notified in due course.				

Last date & time of submission of bids online is: 15/03/2018 at 05:00 pm.

Cost of EMD in Original Copy Physically Submission in Offline: 16/03/2018 up to 01:00 p.m.

Note: 1). In case of any unscheduled holiday or on days of Bandh or natural calamity on the aforesaid dates, the next working day will be treated as scheduled / prescribed date for the same purpose.

- 2). The Tender Inviting Authority may change the venue of opening the Technical or Financial Bids in case of exigent circumstances like breakdown of communications link or conditions of force majeure.
- 3). The Tender Inviting Authority reserves the right to defer the date of opening of either Technical or Financial Proposal or both, if required.

Divisional Forest Officer Panchet Division, Bishnupur